
Name: ______________                                    5-a-day                                         Higher Plus
17th April                                                     

Solve 2x² − 7x + 3 < 0

Two students are chosen at random. 

Work out the probability that both 
students take less than 5 minutes to travel 
to school.

Prove that if two consecutive integers are 
squared, that the sum always gives a 
remainder of 1 when divided by 4.

Prove the angles in the same segment 
are equal.
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The	histogram	shows	information	about	the	
time	taken	to	travel	to	school	by	students.
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